| Efficiency vs Dxy |

0.3
®)

@ 0.09
>

80.08
I3

$0.07
0.06
0.05
0.04
0.03

Xy

......................

eff

......................

0.02

0.0

............

............

1.

Ratio
!IIII TTT1T

0.95

&
4

)

| Efficiency vs Dz |

0-15-10 -5

0 5

101520 25

TP dxy (cm)

—=— DQM_TT__ORIGINAL
—— DQM_TT__MODIFIED_propToPlane_PRVersionFINAL2

N 0.2
©
€0.18
oy
.5 0.16
(&)
£0.14
()
0.12
0.1
0.08

.....................

0.06

0.04

0.02

..........................

el

1

Ratio

T RS B 13

*
* .

*
L 2

10

30
TP dz (cm)




	Contents
	Page 1


